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Part 1 Chapter 1 Review 1.1-1.5 Block Date

Find the distance and midpoint Determine if the point (-4, 5) is
of the followmg points. a solution of the following equations.
2.y=2(x—5Y+22x -4
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Grﬁp]r’ﬂfe followmg equations. State their x- and y- intercepts. 7 o «;) ;
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Identify the typ ye(s) of symm try the equations have. Indlcate if they are even, odd, or neither.
5. y=x’+3 jiaﬁm; 6. y=x? —25 ]2 ; 7. x=y" =5 - ;’;uiﬁm_.
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8. Through (0, -3) and (5, 2) 0. Parallel y = 2x + 5 thra (3,2) 10, Perpendmular to 2x-3y—5

Mz 273 i L ; , /o 3 f; "%,5?5 through (-1, 4)
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11. Determme The correct value of k. P [y ){j%’ | d 7

a) For what valye of & is the graph of ks — 4y =3 paral}e}'t“o the graph of y = -2x + 57 -
b) For what valueef k are the/g;kp’ﬁm perpendicular? e Ty




State the domain and range of the following and determine if each is a function or relation.

12. {(49 '5)5 (23 6)9 (39 _5)9 (_4: 0)} 13.
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Domain: 7, ¥, .5 . Domain: { P
Range: "“i_f“{/ e Range: _/ ~do *v‘?
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State the domain of the following functions.
x+3 PR R x* -9 . I
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Use the functions f{x) and g(x) to answer the following questions. f (x) =(x-1*+1,g(x) = _x\/__l
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1. In 2001, a person purchased a car for $25,290. After 11 years, the car will have to be replaced. Its
value at that time is expected to be $1200. Use this information to write a linear equatlon that gives the
dollar value of the car in terms of the year. Let t=1 represent 2001
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20. The annual amount 4 (in billions of dollars) spent on prescription drugs in the Umted States from
1991 to 2002 can be approximated by the model
| Se+37,_ 1=r<d
0 {181—64,__8$r§12
where ¢ represents the year, when ¢ = 1 corresponding to 1991. Use this model to find the amount spent
on prescription drugs in each year from 1991 to 2002.
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Graph the following Solving algebraically find the zero‘s\of the

piece-wise functions. following functions. ; M. .
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Graph the following function. Identify the zeros, relative maximum and minimum values, and the
intervals where the graph is increasing, decreasing or constant.

24.y=2x" 3x* +1 25. y=(x~1*-2 -
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